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Even if you change the order of the numbers being added, the answer
remains the same.
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3 + 2 = 5 is the same as 2 + 3 = 5

Q1 Fill in the blanks.

1. 1+3=_4_ 3. 44+2=____ 5. S+3=____|
3+1=_ 2+4=____ 3+5=__
2. 2+ 7 =______ 4. 0+6 = ______ 6. 1 +5=___ |
2 =__ 6 +0=____ S+1=____

b . IERTICAL ADDITION

You can write addition sums left-right or up-down.
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3 + 4 = 7 18 the same as i



Q2. Add (Left-right concept)
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Q3.Count the shapes in each box and write the answer under the

line.(Up-down concept)
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Q4. Count and add.
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